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The following table shows the percentage (%) distribution of number of doctors and number of female doctors

working in seven different cities A-G. Number of doctors working in all the seven cities 15 2400 and the ratio
of male to female among them is 5:3. Based on the data in the table, answer the question.

City-wise Distribution of Doctors.

City Distribution (%0)
B Doctors (%) Female Doctors (%)

A 19 24

B 21 16

C 9 11

D 12 8

E 17 16

F 14 19

G 8

6
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&3 i ® (%) Higd ibdd (%)
A 19 24
B 21 16
C 9 11
{ ) 12 8
E 17 16
F 14 19
G 8 6

Number of female doctors 1s more than the average number of female doctors (taking all seven cities together)
in exactly cities.
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(1) 1
(2) 2
(3) 3
(4) 4
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(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25101] Question Description : general_paper_genarel paper_set 13_english_q1
2[Option ID=25102]




3[Option ID=25103]
4[Option ID=25104]
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The following table shows the percentage (%) distribution of number of doctors and number of female doctors

working in seven different cities A-G. Number of doctors working in all the seven cities 15 2400 and the ratio
of male to ferale among them is 5:3. Based on the data in the table, answer the question.

City-wise Distribution of Doctors.

City Distribution (%0}
i Doctors (%) Female Doctors (%0)

A 19 24

B 21 16

{ 9 11

D 12 8

E 17 16

F 14 19

G 8

6
fgfaRaa o 5 u1a fafie el A-c ¥ rika fAfeas! ik afee Rfeas! 31 T o1 i
oo gxifar man § | et aTa wieRl J Sika ffede! B @R 2400 T SR 5H 9N IR Afgar &
3T 5:3 § | 9 dlfcid] § (U TTU Sfidrs] & STUR U UY BI 3R GOl :

Tefercen! T YERaR faavo
- [EGEUNCD)
Afea® (o) Higa flibdd (%)
A 19 29
B 21 16
C 9 11
D 12 8
E 17 16
F 14 19
G B 6

In which of the following cities is the number of male doctors less than the number of female doctors?
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(1) 1
(2) 2
(3) 3
(4) 4
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1)1
(2) 2
3) 3
4) 4
1[Option ID=25105] Question Description : general_paper_genarel paper_set 13_english_q2
2[Option ID=25106]
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The following table shows the percentage (%) distribution of number of doctors and number of female doctors
working in seven different cities A-G. Number of doctors working in all the seven cities is 2400 and the ratio
of male to female among them is 5:3. Based on the data in the table, answer the question.

City-wise Distribution of Doctors.

City Distribution (%0)
= Doctors (%) Female Doctors (%0)

A 19 24

B 21 16

C 9 11

D 12 8

E 17 16

F 14 19

G 8

6
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Feifrees| @1 YgRaR faaw

TEORUT (%)
Rt R (%) ofgar RifeE® (%)
A 19 24
B 21 16
6 9 El
D 12 g
E 17 16
F 14 19
G 8 ]
In city A, the number of female doctors is % of the number of male doctors.
1.90
2.96
3.64
4. 80
(1) 1
(2) 2
3) 3
(4) 4

e A T Al Rfewe! &1 Te I3y Miewme! &1 9el &1 %T I

1.90
2.96
3. 64
4. 80
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25109] Question Description : general_paper_genarel paper_set 13_english_q3
2[Option ID=25110]
3[Option ID=25111]
4[Option ID=25112]
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The following table shows the percentage (%) distribution of number of doctors and number of female doctors
working in seven different cities A-G. Number of doctors working in all the seven cities is 2400 and the ratio
of male to female among them is 5:3. Based on the data in the table, answer the question.

City-wise Distribution of Doctors.

City Distribution (%0)
= Doctors (%) Female Doctors (%0)

A 19 24

B 21 16

C 9 11

D 12 8

E 17 16

F 14 19

G 8

6
frofaiaa ot 5 Trd fafis we3i A-c ¥ erika e ik afee Rfeas! o1 g o1 ufdwd
faa=or g T g | T el § SRR Ml B ST 2400 § 3R 570 I9Y 3R Afee &1
3OTE 5:3 § | SH AT B ST Y Sids] & SUR R 949 B 30 4o :

Feifrees| @1 YgRaR faaw

TEORUT (%)
Rt R (%) ofgar RifeE® (%)
A 19 24
B 21 16
g 9 11
D 12 g
E 17 16
F 14 19
G E 6

What 1s the difference between the average number of male doctors of cities A, B and C together and the
average number of male doctors of cities E, F and G together?

.48
50
54
.56
(1) 1
(2) 2
(3) 3
(4) 4

A, B 3R ¢ o1 263l & gy il @ sfiud = 9UTE, F 3R G ol Well & 4y Rfews! 31
ST T BT iR fda1 3 2

Rl e I

1. 48
2.50
3. 54
4.36
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25113] Question Description : general_paper_genarel paper_set 13_english_q4
2[Option ID=25114]
3[Option ID=25115]
4[Option ID=25116]

Sl. No.5
QBID:13201005




The following table shows the percentage (%) distribution of number of doctors and number of female doctors
working in seven different cities A-G. Number of doctors working in all the seven cities is 2400 and the ratio
of male to female among them is 5:3. Based on the data in the table, answer the question.

City-wise Distribution of Doctors.

City Distribution (%0)
= Doctors (%) Female Doctors (%0)

A 19 24

B 21 16

C 9 11

D 12 8

E 17 16

F 14 19

G 8

6
frofaiaa ot 5 Trd fafis we3i A-c ¥ erika e ik afee Rfeas! o1 g o1 ufdwd
faa=or g T g | T el § SRR Ml B ST 2400 § 3R 570 I9Y 3R Afee &1
3OTE 5:3 § | SH AT B ST Y Sids] & SUR R 949 B 30 4o :

Feifrees| @1 YgRaR faaw

TEORUT (%)
Rt R (%) ofgar RifeE® (%)
A 19 24
B 21 16
g 9 11
D 12 g
E 17 16
F 14 19
G E 6

What 1s the ratio of the number of female doctors in city D to the number of male doctors in City B?

1.2:5
2 1:5
=35
.47
1) 1
(2) 2
(3) 3
4) 4

e D | Afga fdm®! 3R TEx B ¥ goN Rifew®! & S &1 SFud d1 6 2

I T

R
o N ]
=1 L Lha Lh

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25117] Question Description : general_paper_genarel paper_set 13_english_q5
2[Option ID=25118]

3[Option ID=25119]
4[Option ID=25120]
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Given below are two statements:

Statement-I : In learning, law of multiple response means an individual responds to a new situation on the
basis of the responses made by him in similar situations in the past.

Statement-II: In learning. law of analogy implies when an individual is confronted with a new situation, he
responds in a variety of ways before arriving at the correct response.

In the light of the above statements. choose the correct answer from the options given below:

. Both Statement I and Statement I are true.

. Both Statement I and Statement II are false.
3. Statement I is true but Statement II 1s false.
4, Statement I is false but Statement II is true.

(1) 1
(2) 2
3) 3
(4) 4
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4. BYT1 T 8, Afh BUT 11 T B
(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=25121] Question Description : general_paper_genarel paper_set 13_english_q6
2[Option ID=25122]

3[Option ID=25123]
4[Option ID=25124]
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In ASSURE model of learning, ABCD stands for well-stated learning objectives. What does 'C’ stands for?

. Conditioner
. Conditions
. Creativity

. Confusion

(1) 1

2) 2

3) 3

(4) 4
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1. HaITR
2. Holg
3. fopufedidt
4, IS

(1) 1
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(2 2

3) 3

(4) 4

1[Option ID=25125] Question Description : general_paper_genarel paper_set 13_english_q7
2[Option ID=25126]

3[Option ID=25127]
4[Option ID=25128]
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The field of study concerned with the construction of thought processes, including remembering, problem
solving and decision-making 1s called:

. Cognitive development
. Pedagogy
3. Epistemology
4. Connectivism
(1) 1
(2) 2
3) 3
(4) 4

TRUT, HET HIYE 3R vige gfgd faar ufsear fAator @ 9&fia o= &1 89 seadi o -

1. GITES faerg
2. FRremema
3. JEHE™T
4. HayT
(1) 1
(2) 2
(3) 3
(4) 4

ba

1[Option ID=25129] Question Description : general_paper_genarel paper_set 13_english_q8
2[Option ID=25130]
3[Option ID=25131]
4[Option ID=25132]
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Given below are two statements:

Statement-I: The current SWAYAM platform has been developed by Ministry of Education and IIT, Delhi.
Statement-1I: SWAYAM is designed to achieve the five cardinal principles of education.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but Statement IT is incorrect.
4. Statement I is incorrect but Statement IT is correct.
(1) 1
2) 2
3) 3
(4) 4
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(1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=25133] Question Description : general_paper_genarel paper_set 13_english_q9
2[Option ID=25134]
3[Option ID=25135]
4[Option ID=25136]
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Match List I with List IT :

LISTI

(Channels of SWAYAM (Sub'i::ltf'l(—flo{'ere %
Prabha) 1
" 5 Social Science-3, Management, Library
A Chianael 05 I. |science, Information Sci;nce and relatedd
" PRABODH ’ cHe
subjects.
B Channel 04 : 1 Social science-1. Social and Behavioural
T ISAARASWAT " |sciences
C Channel 05 - I Social science-4, Law, Legal studies,
" PRABANDHAN " |Human rights and related subjects.
D Channel 06 : IV Social science-2, Education, Psychology,
* [VIDHIEK " |Home science and related subjects.

Choose the correct answer from the options given below:

1. A-IL, B-IV, C-1, D-III
2. A-IV, B-I, C-II, D-III
3. A-IV, B-II, C-III, D-I
4. AL, B-IL, C-IV, D-I

(1) 1

() 2

(3) 3

(4) 4
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A-II, B-IV, C-1, D-III
A-IV, B-I, C-II, D-III
. A-IV, B-II, C-I11, D-I
. AT, B-IL, C-IV, D-I
(1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=25137] Question Description : general_paper_genarel paper_set 13_english_q10
2[Option ID=25138]
3[Option ID=25139]
4[Option ID=25140]
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One of the commonly used abbreviations in report writing by researchers is 'vide' which means.

. refer to
. example
3. after
4. against

1) 1

(2) 2

3) 3

4) 4
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1[Option ID=25141] Question Description : general_paper_genarel paper_set 13_english_q11
2[Option ID=25142]
3[Option ID=25143]
4[Option ID=25144]
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Given below are two statements:

Statement-I: Non-parametric tests are often more efficient compared to tests of significance or parametric
tests.

Statement-II: Non-parametric tests can be applicable to ordinal or nominal scale data.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II 1s false.
4, Statement I is false but Statement II is true.

(1) 1

2) 2

(3) 3

(4) 4
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(1) 1
2) 2
(3) 3
4) 4
1[Option ID=25145] Question Description : general_paper_genarel paper_set 13_english_q12
2[Option ID=25146]

3[Option ID=25147]
4[Option ID=25148]
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Given below are two statements:
Statement-I: Ethical violations occur when researchers engage in plagiarism or falsifying data.

Statement-II: A researcher cannot cite a well known and established fact without providing citation
(reference). otherwise 1t will be termed as unethical.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement II 1s true.
(1) 1
(2) 2
3) 3
(4) 4




RGPy fRume:
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4. PYTI HTA 8, AfoT YT I FA B
1)1
(2) 2
(3) 3
4) 4
1[Option ID=25149] Question Description : general_paper_genarel paper_set 13_english_q13
2[Option ID=25150]

3[Option ID=25151]
4[Option ID=25152]
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An approach to research in which the investigator creates an environment similar to one of interest in order to
study behaviours in a realistic way, refers to:

1. Naturalistic observation
2. Simulation
3. Longitudinal research
4. Correlational research
(1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=25153] Question Description : general_paper_genarel paper_set 13_english_q14
2[Option ID=25154]
3[Option ID=25155]
4[Option ID=25156]
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Identify the rules that you would follow while designing questions for a questionnaire.

A. Avoid ambiguous terms in questions.
B. Avoid long questions.

C. Ask some leading questions.

D. Avoid double-barrelled questions.

E. Avoid very specific questions.

Choose the correct answer from the options given below:

1. A. B and C only
2.B.Cand D only
3.A,Band D only
4.B, Cand E only

(1) 1

(2) 2

(3) 3

(4) 4

S 1ol & §R ¥ 915U o et uyrac g Wl &1 §11d 99 319 9re &A1 |
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12 14U Tt fas et § 9 Had SUgH TR &1 98- Hifod:

1.PAAA, B IR C
2. HAAB, C 3R D
3. Pdd A, B 3IRD
4. %9 B, C IARE

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25157] Question Description : general_paper_genarel paper_set 13_english_q15
2[Option ID=25158]
3[Option ID=25159]
4[Option ID=25160]
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The Shannon and Weaver mathematical model of communication was based on a linear system of:

1. Print communication
2. Electronic communication
3. New communication
4. Traditional communication
(1) 1
(2) 2
3) 3
(4) 4

T 3R iR Tifvrdig guwor el Faifea o € feaet I8 womel 9R smemid o7 2

1. {0 ¥9R
2. adIHS R
3. 7 99R
4, R 99R
(1) 1
(2) 2
3) 3




(4) 4

1[Option ID=25161] Question Description : general_paper_genarel paper_set 13_english_q16
2[Option ID=25162]
3[Option ID=25163]
4[Option ID=25164]

Sl. No.17
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Real time communication media are known as:

1. Vertical media
2. Asynchronous media
3. Synchronous media
4. Grapevine media

1) 1

(2) 2

(3) 3

(4) 4

RO o5y YR 91e0H Hed ¢ :

1. &R T1gH
2. HBICH HIOH
3. THGIAS AT
4, SFATE HTe0q
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25165] Question Description : general_paper_genarel paper_set 13_english_q17
2[Option ID=25166]
3[Option ID=25167]
4[Option ID=25168]
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The simplified communication model created by Wilbur Schramm initially had the elements of :

A. An encoding source

B. A noise breaker

C. A noise marker

D. A message for transmission

E. A decoder to decode the message.

Choose the correct answer from the options given below:

.A,B.Conly
.B. C,D only




faeaR b H §RI &Y U WRaiIPd FaR Wi H RY # FHifhd s@aa 4

A Pedg B HIHIT

B. @ Hod

c. @i e

D. RSV & AT Haw

E. TR & faped o [dois®

<) g T faepet 4w SR AT

1.BAd A, B, C
2.%ddB.C.D
3.%4AC,D,E
4. PAAAD.E

1) 1

) 2

3) 3

(4) 4

1[Option ID=25169] Question Description : general_paper_genarel paper_set 13_english_q18
2[Option ID=25170]
3[Option ID=25171]
4[Option ID=25172]
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Which of the following are referred to as net ideologists?

A. Harold Innis

B. Marshall McLuhan
C. Algore

D. Nicholas Negroponte
E. Manuel Castells

Choose the correct answer from the options given below:

A.B. Conly
.B. C.D only
.C,D, E only
.A.D.E only
(1) 1
2) 2
3) 3
(4) 4

Frgiferd o 9 fbwg e Rigidard] &gl Wi 6 -

A @ gHY

B. ORid Ao ded
C. TR

D. e ies Firie
E. Bgd e

- fau e fomedt 7 & Tet SR AU :

1.BddA A, B, C
2.%4d B, C.D
3.%aAC, D, E
4. PAAA,D.E

(1) 1

() 2

3) 3

(4) 4
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1[Option ID=25173] Question Description : general_paper_genarel paper_set 13_english_q19
2[Option ID=25174]
3[Option ID=25175]
4[Option ID=25176]

Sl. No.20
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Given below are two statements:

Statement-I: New communication media have made the privatization of public spaces possible.
Statement-1I: The above tendency has led to the emergence of cyber sphere in the world.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement IT is true.

(1) 1

) 2

3) 3

(4) 4

EEEE R ERCER
YT 1 : 70 GIR A1e0H & HRU G W T Holie G4d 8l aare |
FYT 11 : ITYad Haftl & IRUMGEY 9y & 9ger 83 SegaH gan t |
IR P & @D 4, -l 161 70 fdwed © I 96l Sk &1 994 i
1. YT AR I G TRl g
BYAT SR 1T &HI Ted gl
3. HYF 1 T8l 8, AT Y= 11 7Tad g
4. YT 1779 &, Afp-1 DU 11 T8 5

(1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=25177] Question Description : general_paper_genarel paper_set 13_english_q20
2[Option ID=25178]
3[Option ID=25179]
4[Option ID=25180]

Sl. No.21
QBID:13201021

A man lends out an amount of Rs.25.000 into two parts. The first part of the money is lent out at 8% simple
interest and the second part of the money is lent out at 8.5% simple interest. If total annual income of the man
1s Rs.2031.25, then find how much money is lent out at the rate of 8.5% ?

1. Rs. 9,000
2. Rs. 15,000
3.Rs. 18,750
4.Rs. 6,250

1) 1

(2) 2

(3) 3

(4) 4
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. 9000 39U
. 15000 TUY
. 18750 T
L6250 %94
(11
(2) 2
(3) 3
(4) 4
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1[Option ID=25181] Question Description : general_paper_genarel paper_set 13_english_q21
2[Option ID=25182]
3[Option ID=25183]
4[Option ID=25184]
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In a certain coded language the word MEDICINE is called as: EQOJDJEFM. How the word COMPUTER will
be coded in the same coded language?

1. REVUNQPC
2. RFUVQNPC
3. CPNQVUFR
4, CPQNUVFR

(1) 1

(2) 2

3) 3

(4) 4

fepeit ff2d Peas YT § MEDICINE &1 EOJDIEFM & ¥4 H $eaw [adl ol o | 78 COMPUTER
Y B 34l UBR U Peag DI o arell U H Y Peag fegr s 2

. RFVUNQPC
. RFUVQNPC
. CPNQVUFR
. CPQNUVFR
(1) 1
() 2
(3) 3
(4) 4

R

1[Option ID=25185] Question Description : general_paper_genarel paper_set 13_english_q22
2[Option ID=25186]
3[Option ID=25187]
4[Option ID=25188]

Sl. No.23
QBID:13201023

The sum of first n even natural numbers is 1560. Find the value of n.

Fa L3 b
o o L
oo D D

(1) 1
(2) 2
(3) 3
(4) 4




TUH n TH WIHTA T3 BT TR 1560 § | n BT HM J1d BT |

41
39
40
38

el gt

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=25189] Question Description : general_paper_genarel paper_set 13_english_q23
2[Option ID=25190]

3[Option ID=25191]
4[Option ID=25192]

Sl. No.24
QBID:13201024

In a two digit number, if it is known that the digit at the unit's place in the number exceeds the digit at the ten's
place by 2 and that the product of the given number and the sum of the digits of the number is 280. Find the
number.

24
46
35
53

il el e

(1) 1
(2) 2
(3) 3
(4) 4

for<il &1 i I = 1, afE 9% 14 © [ S8 & M 31 TS01 5ol IF & 3901 9 & S{f® § SR &l
T TEAT SR I W1 & 31 & A1 B B 280 &, 1 a6 ST J1d B |

B e
s
L

.53
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25193] Question Description : general_paper_genarel paper_set 13_english_q24
2[Option ID=25194]

3[Option ID=25195]
4[Option ID=25196]

Sl. No.25
QBID:13201025

Sum of the cost price of two articles A and B is Rs.26.000. Both the articles are sold at a profit of 20% and
40%, respectively. However, the selling price of the two articles remains the same. Find the difference in the
cost price of A and B.

.Rs. 2,500
.Rs. 2,000
.Rs. 1,000
.Rs. 3,000
(1) 1
2) 2
3) 3
(4) 4

da s ko




21 I3l A 3R B & AT Hed 1 AT 26000 TUU & | &I a3l Bl SpHRE 20% 3R 40% & a1y UR &1
wﬁ,mﬁﬁmﬁﬁﬁﬁﬂﬂaﬁw% | A 3R B & AT Geu H 3R & 31d PIO |

. 2500 394
. 2000 394
. 1000 394
. 3000 ¥9T
1) 1
(2) 2
(3) 3
(4) 4

da L b2

1[Option ID=25197] Question Description : general_paper_genarel paper_set 13_english_q25
2[Option ID=25198]
3[Option ID=25199]
4[Option ID=25200]

Sl. No.26
QBID:13201026

An informal fallacy where something is assumed as a fact because the contrary of that is not yet proven to be
true is called:

. Begging the question
Appeal to Ignorance

. Complex Question

. Red Herring

(1) 1

(2) 2

3) 3

(4) 4

TS HIGING S, Siel [l il &l U 9 & 39 1 01 ofidl § ddife 39T [dudid 3t ao 98l fag
eI GO §, P! 791 BT TaT & 2

R O

L. HTHTHYAT
2. RIS giad
j.oAdyu¥
4.3 fd (Red Herring)
(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=25201] Question Description : general_paper_genarel paper_set 13_english_q26
2[Option ID=25202]

3[Option ID=25203]
4[Option ID=25204]

Sl. No.27
QBID:13201027

Which of the following propositions are logically equivalent?

A. Some men are arrogant human beings.

B. Some non-arrogant human beings are not non-men.
C. Some men are not non-arrogant human beings.

D. Some arrogant human beings are men.

Choose the most appropriate answer from the options given below:

1. B and D only
2. Aand C only
3.A.Band Conly
4. A, C and D only
(1) 1
2) 2
(3) 3




(4) 4

Fafdied # O ol uidwi difde =9 9 IHga s 2

A TS Y3Y SEPRI G |

B.@mémlﬂ 0 TR-GY 8l ¢ |

C. 7Y R R-IEHN AT TR E |

D. T PRI FTT [0 E |

-2 feu e fawed  § 9ad Iugad I &1 9G] B

1.PIAB AR D
2. FAAARC
3. PITA, B3R C
4. BT A, C AR D

1 1

) 2

(3) 3

(4) 4

1[Option ID=25205] Question Description : general_paper_genarel paper_set 13_english_q27
2[Option ID=25206]
3[Option ID=25207]
4[Option ID=25208]

Sl. No.28
QBID:13201028

If the statement 'some cricketers are fast bowlers' is given as false then which of the following statements
could be immediately inferred to be false?

. All ericketers are fast bowlers.

. No cricketers are fast bowlers.

3. Some cricketers are not fast bowlers.

4. Some non-fast bowlers are not non-cricketers.

(1) 1
(2) 2
(3) 3
(4) 4

afE 59 Y - DS fobebe [AaTS! oo T1edTal o' Pl Tad & &9 § & 71 ¢ ot Fafiiga & 9 oy oA
& TTTd B BT AlebIias =9 I A a1 19 s 2

1. gt fopdpe @St do Tigarsi € |
2. B15 i fpdpe TS a1 Tiga 781 § |
3. 50 fvde faare! o fea e © |
4. 9 RO Tgaml TR-frde faargt 781§ |
1) 1
2) 2
3) 3
4) 4

o —

1[Option ID=25209] Question Description : general_paper_genarel paper_set 13_english_q28
2[Option ID=25210]
3[Option ID=25211]
4[Option ID=25212]

Sl. No.29
QBID:13201029




Which of the following statements are so related that they cannot both be true, although both may be false?

A. All sports persons are athletes.

B. No sports persons are athletes.

C. Some sports persons are athletes.

D. Some sports persons are not athletes.

Choose the most appropriate answer from the options given below:

. A and B only
.C and D only
. A and D only
.B and C only
1) 1
(2) 2
3) 3
(4) 4

frafafad § T HH T $u 39 0ie 96fd & i 3 SFf 9l Tel 8l 9o, gaft -l Tad gl 9dd & 2

A T Sl Tueiied © |

B. @5 HI faars! vudic 7818 |
C. T [Gars uydie § |

D. T8 f@ars! ydie Tei g |

14 feu Tt faeedl § ¥ 9a8 Sugad STk &1 99 BT

1. 33T A IR B
2. %A C IRD
3. Pdd A IRD
4. FFAB AR C

1 1

) 2

3) 3

(4) 4

e

1[Option ID=25213] Question Description : general_paper_genarel paper_set 13_english_q29
2[Option ID=25214]
3[Option ID=25215]
4[Option ID=25216]

Sl. No.30
QBID:13201030

According to classical Indian school of logic (Nydya) which of the following steps of inference (anumana)
corresponds to Upanaya (application of the universal concomitance to the presented case)?

L. Socrates is mortal.
2. Because he is a man.
3. Whoever is a man is a mortal, e.g. Plato.
4. Socrates is a man who is invariably a mortal.
1) 1
(2) 2
(3) 3
4) 4

YR ARA THRIR T (A1) & S8R S0 &1 Hafarad 5 9 148 @R0] 39 (W 6T 1Y
T & Uid Wi geatddl &1 YA & AU 6 2

1. gBAA AR T |

2. I a8 A9 § |

3. W @IE W AT €, T8 TR E, O - el |

4. @RId U H99 3, Ol (RUaE Y ARE |
(1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=25217] Question Description : general_paper_genarel paper_set 13_english_q30
2[Option ID=25218]
3[Option ID=25219]
4[Option ID=25220]

Sl. No.31
QBID:13201031

In ICT. which one of the following pairs of acronyms and its expansion is incompatible?

. .csv - Comma Separated Variables
. .1tf - Rich Text Format

. .pdf - Portable Document Format

. .png - Portable Network Graphics
(1) 1

(2) 2

(3) 3

(4) 4

et ¥, Frafafad # 3 s.ar aikaulf ok 3% fowar S1gm sma g 2

1. .csv- ﬁm@ﬂ@ﬁaﬁﬂaﬁq
2. of - T T BRAE
3. .pdf- ql{w STHAC q:\T{ﬁc
4. png - UICEd ead ATty
1 1
(2) 2
3) 3
) a

T U N g

1[Option ID=25221] Question Description : general_paper_genarel paper_set 13_english_q31
2[Option ID=25222]
3[Option ID=25223]
4[Option ID=25224]

Sl. No.32
QBID:13201032

Identify the correct order of the words A-D given below to complete the following sentences about College
Registration Systems: is a type of registration system that uses finger prints or retina scans to register
students. A type of registration that uses a form that has been completed with a pencil and is then scanned by a
machine after being completed is called registration. A tag that uses microchips and radio signals worn
by all students that registers them when they enter the classroom is called registration. are made
of plastic and contain a chip that can be swiped through a machine to register the student.

A. Smart Cards
B. OMR

C. Biometric
D. RFID

Choose the correct answer from the options given below:
.A.B.D,C

1

2.8,
3.D.A,
4.C.B.

oo S

.D
.B
A




Oelfaena-vsiiad ol & aR § FafiRad $uH @e) &1 gul §34 gq - (3T 70 Wsai A-D & et
Waﬁﬁaﬁa

dﬁmwﬁwww%ﬁﬁﬁﬁ%%ﬂm%@ﬂﬁmﬁmﬂmﬁﬂmﬁﬁw
a1 ¢ | USiiaH &1 U YR fores e Ud B o Suai o wirar ¢ o $Ra @ i sy man giar 8
3R ol 34 S & a1 H1= FR1 0= a1 ST € 98 ToiiT HEaE € | T o forad aft
T GRT TR Ty SiR IS0 Rid & a9 S Yo gidl ¢ S d daT B ufap aid &,
U8 UoimA deddis | WRe® ST a1 oidl & forad U@ g STel T gl & iR ol
faemelf & goiieA oq 1= & mrend 9 Wiy [Sar @1 9@ di ¢ |

A T D18

B. THIAR
C. 9aHice

D. ARUHAS S
i fGu U fadedl & € Hel 3R &1 99+ Bifeiu:

nNowe

WpOow
Popy

el S e
=g n

(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=25225] Question Description : general_paper_genarel paper_set 13_english_q32
2[Option ID=25226]

3[Option ID=25227]
4[Option ID=25228]

Sl. No.33

QBID:13201033
Given below are two statements: (1 KB = 1024 bytes)
Statement-I: 0.2 terabytes (TB) is equal to 204.8 gigabytes (GB)

Statement-II: 1 petabyte (PB) is equal to 2% bits.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement IT 1s true.

1) 1

(2) 2

3) 3

(4) 4

1 P faU T R: (1 KB = 1024 STEEW)

YT : 0.2 TEEE (C1ah), 204.8 TTETEE (©iiel) & RER ST |

HYTII : 1 Uerarse (didh), 2°% fdey & sRIeR gl ¢ |

SWRIad PYA & el F, 7= {30 MU fapedl & I 98t TR &1 99 Sl
1. BYA 1 3R 11 §HI 9 B

BYA 1 3R 11 FHT S &

3. FYT 1 9T &, A YA 1 ITT 8

b2

4. BYT1 HTI B, AP YT I A 8




1)1

(2) 2

(3) 3

(4) 4

1[Option ID=25229] Question Description : general_paper_genarel paper_set 13_english_q33
2[Option ID=25230]

3[Option ID=25231]
4[Option ID=25232]

Sl. No.34
QBID:13201034

Which of the following statements are true?

A. WWW is a collection of multimedia web pages stored on a website.
B. URLs specify the location of all web pages.
C. Web resources are accessed by Windows Operating System.

Choose the correct answer from the options given below:

1. A and B only
2. Aand C only
3.B and C only
4. A BandC

1) 1

(2) 2

3) 3

(4) 4

FEfied PH-9 sYT H8l § 2

A www e deuge W Yufed AecHifSar 9 0o &1 0% T § |
B. URL 91 39 Uull ot e &1 faFfey axarg |
c. f&sSis TRfET Reg Y @ GO U eI € |

193U Tt fasedl O § Had SUgHR SR &1 98- Hifod:

1. %dd A IR B
2. FAAAARC
3. PadB AR C
4.A,B3RC

1) 1

) 2

3) 3

4) 4

1[Option ID=25233] Question Description : general_paper_genarel paper_set 13_english_q34
2[Option ID=25234]
3[Option ID=25235]
4[Option ID=25236]

Sl. No.35
QBID:13201035




Match List I with List IT

LISTI
(Storage Device or LIS‘_I 3_1
Media) (Description)

Non-volatile memory that can only be read
from and not written to
Optical storage media that allows very high

A.|Blue-ray disc L

B | 88D IL |storage capacity by using blue/violet laser
technology.
Volatile memory that stores data, programs. and
C.|ROM III. [the parts of the operating svstem that are

currently in use.

Device that stores data by controlling the

D |RAM IV. Imovement of electrons within a microchip; there
are 110 moving patts.

Choose the correct answer from the options given below:

. A-1, B-IV, C-I1, D-IIT
. A-TIL, B-1, C-IV, D-II
. A-TV,B-IL,C-I, D-III

. AL, B-IV, C-1, D-IIT
1) 1

2) 2

(3) 3

(4) 4

el 1 1Y G 11 DT T Hifory -

R B

T L eifit
(HUSTRUT
i qe @)
MR- 3Tt HART ford doga Ugl o
A X e L [qehdT 3R 38 W foan el S
] |
mﬁgmﬂ(&@wﬁa@;
i [HTE0H Gl NENEEGERIE!
ik = ﬁﬂﬂ%ﬁﬁ@ﬂa{%w
&IH T UTd Dl SiTdl & |
ST TR o aaHE 3 Jgdd
C. [ROM 11 [STeT, W 371 MefeT fien &
T &1 BRI &al & |
ag gfad Sl fodll Argshitay forgH
D [RaM v [P i crfersfien) fesn T8t Bld
¢, 579 giaem! @ i @1 e
@3 §U S1e] ] T B & |
i 4u U fasedl O 1 98! Sux o1 994 Pilolu :
1. A-I, B-IV, C-II, D-IIT
2. AIL, BI, C-IV, DAII
3. A-IV, B-IL, C-1, D-IIT
4. A-II, B-IV, C-I, D-III
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=25237] Question Description : general_paper_genarel paper_set 13_english_q35
2[Option ID=25238]
3[Option ID=25239]
4[Option ID=25240]

Sl. No.36
QBID:13201036




How many national missions are there in the National Action Plan on climate change?

e
MO OO - O

(1) 1
(2) 2
(3) 3
(4) 4

Scarg uikad- da el AP S A o o AP iR E 2

=1 On

il ol
o o

1) 1
(2) 2
(3) 3
4) 4
1[Option ID=25241] Question Description : general_paper_genarel paper_set 13_english_q36
2[Option ID=25242]

3[Option ID=25243]
4[Option ID=25244]

Sl. No.37
QBID:13201037

Given below are two statements:

Statement-I: Hydro chlorofluorocarbons (HCFCs) were introduced as ozone-safe replacement for
chlorofluorocarbens (CFCs)

Statement-1I: Hydro chlorofluorocarbons (HCFCs) do not contribute to green house warming.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.

2. Both Statement I and Statement I are incorrect.

3. Statement I is correct but Statement II is incorrect.
4. Statement [ is incorrect but Statement II is correct.

(1) 1
(2) 2
3) 3
(4) 4

TPy fRume:

HYT 1 : SIS SIRIRIRRID 6] (TIHUHHD) Bl FARIKRIGIE! (B & S Jad Wiaees] o
¥ T UEd fear o |

YT 11 : TS SIFIRIKRIGa (TIUHHT) UIGU-1Tg a1o= & 3G Agl &id g |
TWRIGd DY D 3aid H, -1 U MY f[dhedl § U 96 IUGH IR DI G BIOIC:
1. PYF 1 AR 11 T et T
2. YA 1 3R 11 ST T &
3. HYF 198! 8, Afhd HYU 11 7Iad g
4. BYF 1704 &, A BYF 1 TR B

1 1
) 2
3) 3




(4) 4

1[Option ID=25245] Question Description : general_paper_genarel paper_set 13_english_q37
2[Option ID=25246]
3[Option ID=25247]
4[Option ID=25248]

Sl. No.38
QBID:13201038

Which of the following play a role during formation of photochemical smog?

A.NO,; (Nitrogen dioxide)

B. Black Carbon

C. Sun light

D. VOCs (Volatile Organic Compounds)
E. CO (Carbon monoxide)

Choose the correct answer from the options given below:

A, Band C only
A, CandD only
.A.Dand E only
.B.C.Dand E only
(1) 1

(2) 2

3) 3

(4) 4

SOBTRT AP 45 e & & § Fa & 9 fat uffrer gt 8

A.NO, (FIIECITH SRaHES)
B. &P Pla-

C. 4 F1 U™

D. VOCs (@a=iia ofg A1)
E. CO (PTaH ARIEES)

H1 14U 7T fooedl § 9 9E1 TR &1 98- BHioig:

1.PAAA, B3R C
2. PTAA, C3HRD
3.%ad A, D IRE
4. $JAB,C.DARE

1 1

) 2

(3) 3

(4) 4

b

e s

1[Option ID=25249] Question Description : general_paper_genarel paper_set 13_english_q38
2[Option ID=25250]
3[Option ID=25251]
4[Option ID=25252]

Sl. No.39
QBID:13201039

In which of the following types of electricity power plants, turbines are not required?

1. Geothermal
2. Nuclear
3. Hydro
4. Solar
(1) 1
(2) 2
(3) 3
(4) 4




FafiEd # ¥ g WopR & faqgd SHull GuH! § exalgH| &1 SaRgadl 78] ohil 6 2

B

1[Option ID=25253] Question Description : general_paper_genarel paper_set 13_english_q39
2[Option ID=25254]
3[Option ID=25255]
4[Option ID=25256]

Sl. No.40
QBID:13201040

Given below are two statements: one is labelled Assertion A and other is labelled as Reason R.

Asgsertion-A : Rise in water temperature from normal levels, due to thermal pollution, can adversely affect
water quality and aquatic life.

Reason-R : Oxygen solubility in water increases as temperature increases.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A.

2. Both A and R are correct but R is NOT the correct explanation of A.
3. A is correct but R is not correct.

4. A is not correct but R is correct.

1) 1
(2) 2
(3) 3
(4) 4

4 31 Y U MU & US SHTUHYUT (Assertion A) & =0 § fifEd 8 T §OR1 3P FRUI (Reason R) &
=Y :

SHYA A : AU UEN0T & PRI S0 & AIIHI o] ATHI &R 3 a1 ofd B1 gl $fR Sieliy s
R Wded THIG STd Ihal ¢ |

HRUR : AOHH & g & w1 ot F serfie o1 ga-<iad 3 afS et € |
SRI HY & 3HTalie 1, - [ U [dbedl o 9 Fad IUgad 3k &1 98- Hiful |

1. A 3R R GH T8I € 3R R, AP Te! AT B
2. A R R G Uel €, A1 R, A BT U UrRa g 8
3. A9El g AP R 8l 81 &

4. ATEI T8l g AP R TR B
1 1
() 2
3) 3
4) 4

1[Option ID=25257] Question Description : general_paper_genarel paper_set 13_english_q40
2[Option ID=25258]
3[Option ID=25259]
4[Option ID=25260]

Sl. No.41
QBID:13201041




University of Mithila was famous for

A. Astronomy

B. Nyaya Sutra

C. Archaeology

D. Logical sciences
E. Medicine

Choose the most appropriate answer from the options given below:

A and B only
.B and D only
. A and C only
.D and E only
(1) 1
(2) 2
(3) 3
(4) 4

foyiere fayfdeneg fegd fou uide 412

A. 9T fa3iH

B. TTGYA
C. QRIdd - fage
JHRIT

D.
E. SR
12 14U Tt fas et § 9 Had SUgH TR &1 98- Hifod:

1. Had A IRB
2. HAAB ARD
3. PAAAIMRC
4. FAADIRE

1y 1

) 2

3) 3

4) 4

R

1[Option ID=25261] Question Description : general_paper_genarel paper_set 13_english_q41
2[Option ID=25262]
3[Option ID=25263]
4[Option ID=25264]

Sl. No.42
QBID:13201042
By . all Higher Education Institutions (HEIs) shall aim to become multidisciplinary institutions and

shall aim to have larger student enrolments as per NEP 2020, recommendations.

. 2035
2030
.2040

2025

e

1) 1
(2) 2
(3) 3
(4) 4

ST e Aifd, 2020 # @t TS Tl & AR aF THt SR e dw=T (TEs ) S aed
g fawdt Syl o uRvrd g1 8 ay faenfifal & Ammie- § 9gd siide gl a1 g |

2035
2030

204

FaRiR ok

2025

1 1




(2) 2

3) 3

(4) 4

1[Option ID=25265] Question Description : general_paper_genarel paper_set 13_english_q42
2[Option ID=25266]

3[Option ID=25267]
4[Option ID=25268]

Sl. No.43
QBID:13201043

In 1904, who was the moving force behind the enactment of the Indian Universities Act which intended to introduce radical
changes into some of the existing universities in colonial India ?

. Lord Canning

. Lord Mountbatten
. Lord Curzon

. Lord Linlithgow

o R

1) 1
(2) 2
(3) 3
(4) 4

ay 1004 T YRGH fayfaenay sfifan & sififgaa & Faifed o 9 o1 7= R« 3 o s
uFaiie YRd ¥ 3o faemH fayfaaredl # smer=e ke Q- $-1 U1 2

1. @S BT
2. @18 Adeded
3. T1S Hoi
4. TS fefferumm
1 1
) 2
3) 3
(4) 4

1[Option ID=25269] Question Description : general_paper_genarel paper_set 13_english_q43
2[Option ID=25270]
3[Option ID=25271]
4[Option ID=25272]

Sl. No.44
QBID:13201044

One of the regional centers of UGC is situated in which of the following states?

. Punjab

. Rajasthan
. Orissa

. Assam
(1) 1

(2) 2

3) 3

(4) 4

fasfaerera sam S &1 Us & o5 Fgifea 4 9 fg T o a8

EEIG]
RESIC]
EEIRL
T

b —

e

oW e

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25273] Question Description : general_paper_genarel paper_set 13_english_q44
2[Option ID=25274]




3[Option ID=25275]
4[Option ID=25276]

Sl. No.45
QBID:13201045

In 1937, Gandhiji evolved a scheme popularly known as the Wardha Scheme of Basic National Education. In
order to implement the recommendation of Wardha Scheme, a committee was set up under the Chairmanship

of:

1. MLK. Gandhi
2. B.G. Kher
3. Zakir Hussain
4. AK. Azad
(1) 1
(2) 2
3) 3
(4) 4

ay 1937 J Mol 7 Us Wi fasfad &t 5t guf Wi & e "w-d e & A1 3 fded § |
gl i @ Sxgfadl & sat-aad gq Faifed O 9 feue! siaed & ue aiafd 1fed &1 g i 2

1[Option ID=25277] Question Description : general_paper_genarel paper_set 13_english_q45
2[Option ID=25278]
3[Option ID=25279]
4[Option ID=25280]

Sl. No.46
QBID:13201046




Read the following passage and answer the question.

In both rich and poor countries, native or indigenous people are generally the least powerful, most neglected
groups in the world. Typically descendants of the original inhabitants of an area taken over by more powerful
outsiders, they are distinct from their country's dominant language, culture, religion, and racial communities.
Of the world's nearly 6.000 recognized cultures, 5,000 are indigenous ones that account for only about 10
percent of the total world population. In many countries, traditional caste systems. discriminatory laws,
economics, or prejudice repress indigenous people. Their unique cultures are disappearing, along with
biological diversity as natural habitats are destroyed to satisfy industrialized world appetites for resources.
Traditional ways of life are disrupted further by dominant Western culture sweeping around the globe.

At least half of the world's 6,000 distinct languages are dying because they are no longer taught to children.
When the last few elders who still speak the language die. so will the culture that was its origin. Lost with
those cultures will be a rich repertoire of knowledge about nature and a keen understanding of a particular
environment and way of life. Interestingly. just 12 countries account for 60 percent of all human languages.
seven of these are also among the "mega diversity" countries that contain more than half of all unique plant
and animal species. Conditions that support evolution of many unique species seem to favour development of
equally diverse human cultures as well.
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The most appropriate title for the passage 1s:

State of the indigenous world

Biodiversity conservation measures

. Indigenous people and world's biodiversity
. Empowerment of indigenous people.

1) 1

(2) 2

3) 3
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Read the following passage and answer the question.

In both rich and poor countries, native or indigenous people are generally the least powerful, most neglected
groups in the world. Typically descendants of the original inhabitants of an area taken over by more powerful
outsiders, they are distinet from their country's dominant language. culture, religion, and racial communities.
Of the world's nearly 6.000 recognized cultures, 5,000 are indigenous ones that account for only about 10
percent of the total world population. In many countries, traditional caste systems. discriminatory laws,
economics, or prejudice repress indigenous people. Their unique cultures are disappearing, along with
biological diversity as natural habitats are destroyed to satisfy industrialized world appetites for resources.
Traditional ways of life are disrupted further by dominant Western culture sweeping around the globe.

At least half of the world's 6.000 distinct languages are dying because they are no longer taught to children.
When the last few elders who still speak the language die. so will the culture that was its origin. Lost with
those cultures will be a rich repertoire of knowledge about nature and a keen understanding of a particular
environment and way of life. Interestingly. just 12 countries account for 60 percent of all human languages.
seven of these are also among the "mega diversity” countries that contain more than half of all unique plant
and animal species. Conditions that support evolution of many unique species seem to favour development of
equally diverse human cultures as well.
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Given below are two statements:

Statement-I: Majority of indigenous cultures are confined to a very few countries of the world.
Statement-II: Majority of world population consists of indigenous people.
In the light of the above statements, choose the correct answer from the options given below:

. Both Statement I and Statement II are true

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

(1) 1

(2) 2

(3) 3

(4) 4
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Read the following passage and answer the question.

In both rich and poor countries, native or indigenous people are generally the least powerful, most neglected
groups in the world. Typically descendants of the original inhabitants of an area taken over by more powerful
outsiders, they are distinct from their country’s dominant language, culture, religion, and racial communities.
Of the world's nearly 6.000 recognized cultures, 5,000 are indigenous ones that account for only about 10
percent of the total world population. In many countries, traditional caste systems, discriminatory laws,
economics, or prejudice repress indigenous people. Their unique cultures are disappearing, along with
biological diversity as natural habitats are destroyed to satisfy industrialized world appetites for resources.
Traditional ways of life are disrupted further by dominant Western culture sweeping around the globe.

At least half of the world's 6,000 distinct languages are dying because they are no longer taught to children.
When the last few elders who still speak the language die. so will the culture that was its origin. Lost with
those cultures will be a rich repertoire of knowledge about nature and a keen understanding of a particular
environment and way of life. Interestingly, just 12 countries account for 60 percent of all human languages.
seven of these are also among the "mega diversity" countries that contain more than half of all unique plant
and animal species. Conditions that support evolution of many unique species seem to favour development of
equally diverse human cultures as well.
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Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R:
Assertion-A : Indigenous people live in harmony with nature.

Reason R: Biodiversity tends to thrive at places where indigenous cultures thrive.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both A and R are correct and R is the correct explanation of A.

. Both A and R are correct but R is not the correct explanation of A.
. A is correct but R is not correet.

. A is not correct but R is correct.
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(2) 2

3) 3

4) 4
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Read the following passage and answer the question.

In both rich and poor countries, native or indigenous people are generally the least powerful, most neglected
groups in the world. Typically descendants of the original inhabitants of an area taken over by more powerful
outsiders, they are distinct from their country's dominant language, culture, religion, and racial communities.
Of the world's nearly 6.000 recognized cultures, 5,000 are indigenous ones that account for only about 10
percent of the total world population. In many countries, traditional caste systems. discriminatory laws,
economics, or prejudice repress indigenous people. Their unique cultures are disappearing, along with
biological diversity as natural habitats are destroyed to satisfy industrialized world appetites for resources.
Traditional ways of life are disrupted further by dominant Western culture sweeping around the globe.

At least half of the world's 6,000 distinct languages are dying because they are no longer taught to children.
When the last few elders who still speak the language die. so will the culture that was its origin. Lost with
those cultures will be a rich repertoire of knowledge about nature and a keen understanding of a particular
environment and way of life. Interestingly. just 12 countries account for 60 percent of all human languages.
seven of these are also among the "mega diversity" countries that contain more than half of all unique plant
and animal species. Conditions that support evolution of many unique species seem to favour development of
equally diverse human cultures as well.
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Which among the following inferences can be drawn from the passage?

A. Indigenous people in rich countries are generally neglected and their voices remain unheard.
B. Native people in the poor countries are quite powerful.

C. Most of the world population belongs to indigenous cultures.

D. Indigenous people possess unique cultures

E. Indigenous cultures are facing a threat from western culture.

Choose the most appropriate answer from the options given below:

A.B.C.Dand E
A.C.Dand E only
A, D and E only
B.C.Dand E only

D 1

(1) 1
(2) 2
3) 3
(4) 4
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Read the following passage and answer the question.

In both rich and poor countries, native or indigenous people are generally the least powerful, most neglected
groups in the world. Typically descendants of the original inhabitants of an area taken over by more powerful
outsiders, they are distinct from their country’s dominant language, culture, religion, and racial communities.
Of the world's nearly 6.000 recognized cultures, 5,000 are indigenous ones that account for only about 10
percent of the total world population. In many countries, traditional caste systems, discriminatory laws,
economics, or prejudice repress indigenous people. Their unique cultures are disappearing, along with
biological diversity as natural habitats are destroyed to satisfy industrialized world appetites for resources.
Traditional ways of life are disrupted further by dominant Western culture sweeping around the globe.

At least half of the world's 6,000 distinct languages are dying because they are no longer taught to children.
When the last few elders who still speak the language die. so will the culture that was its origin. Lost with
those cultures will be a rich repertoire of knowledge about nature and a keen understanding of a particular
environment and way of life. Interestingly, just 12 countries account for 60 percent of all human languages.
seven of these are also among the "mega diversity" countries that contain more than half of all unique plant
and animal species. Conditions that support evolution of many unique species seem to favour development of
equally diverse human cultures as well.
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Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R:
Assertion-A : Western culture supports indigenous people and their traditional ways of life.

Reason R: Indigenous people possess ecological wisdom about their natural habitat.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A.
2. Both A and R are correct but R is not the correct explanation of A.
3. A is correct but R is not correct.
4. A 1s not correct but R 1s correct,
(1) 1
(2) 2
3) 3
4) 4
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